EXAM A: SOLUTIONS

QUESTION 1
i) Taking x=A4 one possible solution is: (10 points)

[image: image1.jpg]=IF(Ad>=0;:IF (Ad<=1A42-2*A4+1: IF (Ad<=2: SQRT(2*A4*(A4-1)): 2*ABS(A4-30): 1)




f(-2)=1 and f(5)=2|5-3|=4. (2.5 points)

ii) 
                          2           for -2 ( x ( 2
           f(x) =      x           for x ( -2
                          4-x        for x ( 2                (8 points)
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 (4.5 points)
QUESTION 3: 

[image: image3.jpg]Function library(x As Integer) As String
Select Case x

Case 100 To 199: library = "the book is in the basement”

Case 200 To 500, Is > 900: library = "the book is in the main floor”
Case 501 To 699, 751 To 900: library = "the book is in the upper floor”
Case 700 To 750: library = "the book is in the archives”

Library = "wrong reference number”

Case Els:
End Function




(2 points for defining variable types, 2 points for correct select case structure, 3 points for each of the seven cases)

QUESTION 2 :

[image: image4.jpg]Function people(continent is String,
If continent = "Europe” Then

If country = "Russia” Then

people = Application.WorksheetFunction.
Elself country = "Germany” Then
people = Application.WorksheetFunction.
Elself country = "UK" Then

people = Application.WorksheetFunction.
Else

people = "pick another cowntry”

End It

ElseIf continent = "Asia” Then

If country = "China” Then

people = Application.WorksheetFunction.
Elself country = "India” Then

people = Application.WorksheetFunction.
Elself country = "Indonesia” Then
people = Application.WorksheetFunction.
Else

people = "pick another cowntry”

End It

Else

people = "pick ancther continent”

End It

B Pk 4G

country As String]

s Variant

VLookup ("Russia”, [a1:b3], 2, False)
-VLookup ("Germany”, [a1ib3], 2, Talse)
Viaokup ("U", [alth3], 2, False)
\VLookup ("China”, [e1:d3], 2, Talse)
VLookup ("India”, [e1:d3], 2, Talse)
VLaokup ("Indonesia®, [el:d3], 2, False)





(2 points for defining variable types, 5 points for the outer if structure, 9 point for each of the two inner if structures)
QUESTION 4:

i) 

[image: image5.jpg]Tunkvans Sinceix S DEER) & LOEAger
since = Year(Now()) - Year(x]
Ehd PunGeion



 (7 points)

ii) [image: image6.jpg]Function woon(mission is String) s Integer
Din y As Date

v = pplication.WorksheetFunction.HLookup (nission, [a
moon = since(y)

Rl Fansbism

2], 2, False)




(9 points)

iii)

[image: image7.png]Function moonyear (d As Date) As String
Din y ks Integer

v = since(d)

Select Case v

Case 29 To 48: moonyear = "there was a moon mission in this decade”
Case Else: moonyear = "there vas no moon mission in this decade”
End Select

End Function




(9 points)

